
04-08-2025

(Discontinued) Flip Seating Dynamics Rocker Back 



04-08-2025

Item Number Part Number Description Quantity

19a, 22 503107 Growth Strut Assembly Short, Focus/Flip 1

19b, 22 503108 Growth Strut Assembly Long, Flip/Focus 1

19a, 22, 23,
24a, 24b, 25,
27, 28

504367 Removable Stroller Handle Assm 10W Flip 1

19b, 22, 23,
24a, 24b, 25,
27, 28

504368 Removable Stroller Handle Assm 11-13W Flip 1

19c, 22, 23,
24c, 24d, 25,
27, 28

503104 Removable Stroller Handle Assembly 14-18W
Focus/CR45/CR45/Flip/Liberty 1

11a, 12, 13 504356 Back Tube Assembly Fixed with Grip, Dynamic
Back Short Flip 1

11b, 12, 13 504357 Back Tube Assembly Fixed with Grip, Dynamic
Back Tall Flip 1

11a, 26 504358 Back Cane Assm Fixed Stroller Short Flip 1

11b, 26 504359 Back Cane Assm Fixed Stroller Tall Flip 1

8-10, 14, 23,
29, 30, 31 502518 Height Adjustable Lower Tube Assembly,

Dynamic Back Tall 1

1a, 2a 504352 Dynamic Back Adj Ht w/ Back Plate PAIR, Flip 1

1b, 2a 504353 Dynamic Back Fixed Ht w/ Back Plate PAIR, Flip 1

1a, 2a, 2b 504354 Dynamic Back Adj Ht w/ Transit Back Plate PAIR,
Flip 1

1b, 2a, 2b 504355 Dynamic Back Fixed Ht w/ Transit Back Plate
PAIR, Flip 1

3-7, 9 504364 Frame Attaching Hardware for Dynamic Back
Assembly, One Side Flip 1

8-10 502521 Tube Attaching Hardware for Dynamic Back
Assembly, One Side Focus/Flip 1

3 101781 M6 x 50mm Partial Thread BHCS Blk ZC 3

4 101815 M8 x 50 BHCS Blk Zn 1

5 100659 M8 Nylock Nut Blk Zn 1

6 100658 M6 Nylock Nut Blk Zn 3

7 002595 Saddle, Dual, 1" OD X 1.5 SP 2

8 101811 M6 x 35 BHCS Blk Zn 2

9 100746 M6 Flat Washer Blk Zn 5

10 100558 M6 Nyl Ins Domed Cap L/N Zc 2

19a 002032 Growth Strut, Stroller, 10-12 1

Used on 10" chair width



04-08-2025

Item Number Part Number Description Quantity

19b 002033 Growth Strut, Stroller, 11-13 1

Used on 11" - 13" chair widths

19c 002578 Growth Strut, Stroller, Short 1

Used on 14" - 18" chair widths

22 101843 M5 x 20 SHCS Blk Zn 5

23 001083 Bushing Height Adjustable Back Tilt 1

24a, 27 504362 Stroller Handle w/ Foam, Right Flip 1

24b, 27 504363 Stroller Handle w/ Foam, Left Flip 1

24c, 27 501090 Stroller Handle with Foam Grip, Right 1

24d, 27 501091 Stroller Handle with Foam Grip, Left 1

25 001243 Stroller Handle Adaptor 2

28 100533 Detent Button 2

29 000988 Fastener Retainer 1

30 000987 Threaded Fastener 1

31 200427 M5 x 10 CLS8.8 HHCS ZC w/Patch DIN933 1


